‘Selving Prepertiens with Blgebrea

To find the missing value in a proportion, you can use cross products or cross multiplying. An
example is shown below.
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A é-foot crocodile has a 2-foot skull. If skull length is proporfional to the body length, what is

the length of a crocodile of that same species with a 3.5-foot long skull?
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Defermining if quantifies are proportional. Simplify or use cross products or unit rates,

10 children and 3 adutts for 12 children

2. 12inches by 8 inches and 18‘Tnet1§s by 12 ing,ee/w
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Solve each propoition.
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' 25 miles 1o the next fown.

eetin 31.5 seconds (éfds's-pro__dkuc’rs)

$7.12 for 8 pairs of socks (unif rate)
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1. Orange Juice is on sale 3 half-gallons for $5. At this rate, find the cost of 5 half-gallons of

2. Franco drove 150 miles in 1.5 hours. At this rate, how long will it take him to drive another
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ratios and proportions Grade:

1. YeSterdayHaley Sold 14 Strowberry Kiwi, 18 Tangering, 8 Grape
and & Mountain Berry Suckers during the football game. Exploin
whether the ratio of Strawberry Kiwi to Tangerine or the ratio
of Grape to Mountain Berryis greater.

2. Mikaylo drove 621 mileS in 11.5 hourS. What was her average
Speed in mieS per hour?

3. Ak the grocery Store, Jack notices that a 7 0z. bag of raising
IS $1.10 and @ 9 0z. bag of raiSiNS iS $1.44. Which Size bog haS the

lowe St price per ounce?

find an equivdlent ratio te each ratie.
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use ¢iross ?r-oduc'l's + solve each gropor'l'ian.
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11. 0ne dog year iS Said to €qual 7 human years. Tf Alexis' dogis 55
years old in dog years, what is her dogs age in human yeors?
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